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EX:- Graph the function y=2x+3 find D; and R¢

Sol : —

let:x= y=2x+3
-2=2(-2)+3=-1
-1=2(-1)+3=1
0=2(0)+3=3
1=2(1)+3=5
2=>2(2)+3=7

D, = {x:\xe(-o,0)}=R

R, ={y:\y e (-o,0)}=R
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EX1:- find the domain and range of the function y=x’

X | Y=x°

-2 |4

-1 |1

0 0—>dad Jal
1 1

2 4

3 9

D, =R—> D, ={X:—0 < x <o}

Rf:{y:03y<oo} —-adas Sl
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EX2:- find the domain and range of the function y=x? Where -2<x<2 and graph

D, ={x:xeR;-2<x<2}
R, ={y:yeR0<y<4}



X | Y=x°

-2 | 4> S
-1 |1

0 0—> 4. B3l
1 1

2 4

-4 -3 -2 -1 0] 1 2 3 4
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EX1:- find the domain and range of the function

y=4/X-3
SOL:-
y=+X-3
x—3>0
X>3

D, ={x:,xeR,x>3}
R, ={y.,yeR,y>0}
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y=v4-x°

SOL.:
y=va-x*
y=4-x*>0
-x*>-4
x> <4
‘xz‘s4
—2<x<L2
D, ={x:xeR-2<x<2}
R, ={y:yeR0<y<2}
Y Jsaall Jee DA (e (sl ad dlay) a3 G

X |y=v4-x°
-2 |0

_1 \/g

0 2
SEE

2 |0
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EX1:- find the domain and range of the function y=1/x

SOL:-
D, ={x:xeR;x=0}
R, ={y:yeR;y=0}
S1 Y JSAL L Sy

R/{0}orR—{0}

EX2:- find the domain and range of the function y=1/x-1
SOL.:-
D, ={x:xeR;x#1}

R, ={y:yeRi—wo=<y<1}
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1
X -
y x-1
-2 | -1/3
-1 |-1/2
0 -1
2 1
3 1/2
4 1/3
5 1/4
EX3:- find the domain and range of the function
y= 1
X—2
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X=2>0

X =2

D, ={x:xeR;x>2}

R, ={y:yeR0<y<1}
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EX1:- find the domain and range of the function and draw the function y=5
Sol:

Rf:{5} Df:R 5




X Y=X
-5 |-5
-2 | -2

0 0

+2 | +2
+5 | +5

X:x>0
f(X):‘X‘:{—x:x<0

D; =R
R; :[O,oo)

Aol o gasli saeia AdlAl) @
f(X) =a +hx Al s3¢d aladl JE ()
Ri=R Ds=R Ledllaia )18

Gy il 0 gasdl Baaete AN @

f(x) =ax? +hx+c Alall o3¢ alall JLEN ()
Ri=R Df=R Lealhaig o)l

A A e

f(x) =x A1l s3] aladl JS2 ¢

Ri=R Ds=R Lealhaig o)\

f(x) = x  -:AsY) A8l Al Ll osal - Ui
—dall

dallhal) dagll Al @




BJ\.&}[\ by e

1:x>0

f(x)=sign(x)=<0:x=0 e
-1:x<0

D, =R

R, =[-104] <

f(-Xx) = -f(X) 1Y) ol (Sead Al AAN e Ao pdll DA e
f(x) = x° -1l
—dall
f(1)=(1)°=1
f-1) = (-1)°=-1
f(-x) =f(-x)* = -x® = -f(x)

f(-x) = f(X) -V Tl s AN 4 A g AN o

f(x) = x* -: s
A
f(1) = (1)*=1
f-1) = (-1)°=1

f(-x) =f(-x)* = x* = f(x)

xéj@jiﬁ\euamujjg)&cqmds‘_):ujajujcd.ujidm\o;m;@Mam?&:ii\lb °

[ X] Sttt Sas
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[2]=2 [21] =2 [29]=2 -icasllis @
[-21]=-3 [-29] =-3 [-3.7]=-4 - QLA 3

 — Di=R,Rf=Z ) &
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EX1:- find the domain and range of the functions

1y =/16—x?
Sol:
y=16—-x*>0

—x?>>16



x> <16

Jx? <16

X<4
—4<x<4=[-44]

D, ={x:xeR-4<x<4}
R, ={y:yeR0<y<4}

X
y =16 —x?

4 dad JiI0
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2 V12

1 J15

0 4

1 N

2 a2

3 57

4 0

15x-3-0=>x>3
2.5ing(x)=40—>x-3=0=x=3
-1-5x-3<0=>x<3

D, ={x:xe R~ =< X <o}
R, ={y:yeRy=[L0-1]




let:- X y

3f (x)=[x] 0 0
D, =R 1.1 1
5 =
2.7 2

EX2:- find the domain of the functions

Sol:-
1- f(x)=1/[x]
D, =R-[021)
since[x]=0=0<x<
0.1=0
0.2=0
0.3=0
0=0

2 f(x )_x(x+1)

D, =R-1{0}

3-f(x)=¥x+1
D, =R

du\jm}d\eﬂ\u_‘cﬂ)ulﬁ_\yw\d\LY\ GJLMJMLQASLMU}SJMJ)Q\JJM\-&;)LA

1 1
——=—x>0=>x"
X+X 2X
4—f(x)= L = L :E,x:o
x+\x\ X+0 X
1 1 _
=—=0,X<0=X
X+(=x) 0
1
since —— # —X
x+\x\

=[0,00)= {x:x e R;0< x < 0}

dall e dxing piall Y @lldg> 0 Gad s> 0 3L i Laa 4 53a 5 4y € Al Lipal cilS 13) - ddaadla



Operations of functions Jlg3  Jde cllaad) (3-2)

VS S e (o pa ) clileall (8 g(x) Al 5 F(x) Aall Ll o<l

1I(f£9)(x) = f(x)£9(x)
2(f*9)(x) = f(x)*g(x)
3(F/9)(x)=T(x)/g(x);9(x) #0
497 1)(x)=9(x)/ f(x); f(x) =0
5(cf (x)) = cf (x)
—r Y SN 0 5Ss Gandlall (e JSI Ll alasy Ll

1D(1.q) = D¢ 1D
2D ;-5 =D; D,
3D(/q =Dy N Dy —9(x)
4D,y =D ND, - f(X)

EX:- If the function f(x) = x+1/x and g(x) =-1/x find

1(f £9)(x) D 1.y
2(f*9)(x) 6D, 1)
31(x)/g(x) 7D,
Ag(x)/ f(X) 8D,
Sol:-
1(f +9)(X) =x+1/x+(-1/x) = x
(f - G)X) = X+ (U X)— (11 %) = x+ (1) + (1)) = X2
2(1*9)) = (x+ W) (L) =2 =
1 —x*-1 —(x*+1)
=1-—=""_"-- .
X X X
1
X+
3(f19)(x) =—~
X
_1
4(g/f)=—2=



5D, . = D; ND, = IR/{0}NIR/{0}=IR/{0}
6D,;.,, = D; ND, = IR/{0}N IR/{0}= IR/{0}
7Dty = IR/{0}—(g(x)=0)
8D, = IRI{0}—(f(x)=0)

Equality of functions J)sa) ¢ g (4-2)

We say that two functions f(x) and g(x) are equal if f(x) and g(x) have the some domain
Ds=Dy and f=g for each (x) in the common domain

AV da g il o g5 13) U sl Lagd) (il 6N Jdy odle f Adaa Sl Cusa g
1Dt =Dy
2f(a)=g(a);vxeR

EX1:- Find the equality of functions if

f(x):\/7
g(x)=|x|
Sol :-

f(x)=g(x)=\/F=\x\:>x=x
1D, =D, = IR

2f(x)=9(x)
Iet:x=1—m/?¢or:\x\
F(X)= f(x=1)=@)? =1
g(x)=g(x=1)=[1=1
f(x=-1) = (-1)? =1
q(x=-1)=|-1=1

F(x)=9(x)

EX2:- Find the equality of functions if

f(x) = (Vx)?
g(x) =[x

Sol:-



1f (x) = (Vx)?
D, =R*U{0}
g(X)=|x

D, = IR

D, # D;

2 @) =(vif
g()==1
fQ)=9@)
f(x) = g(x)

EX3:- Find the equality of functions if

2
F(x)= 2X—X
g(x)=2-x
Sol:-
2
1- (=2 ,p, —IR-{0}

g(x)=2-x—>D, =IR
D, =D,

2%1-1

2- ()= 1

g)=2-1=1
f0=g@=1

2*-1-1
f(-1)= =
(D="—=

g(-1)=2+1=3

f(-)=g(-1=3

3

The functions dose not equality

Composite functions J) s S 5 (5-2)

S1e ) JSAIL Ca ey J)sall casS 55 Gl g(x) ANl F(x) Adlall Lyal el 1)

1(fog)(x) = T(g(x))
2(fof )(x) = f((x))
3(gof )(x) = g(f(x))
4(909)(x) = g(9(x))
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1(fog)(x) = (gof )(x)

EX1:- If the f(x) =x* and g(x) = (x)"? find the

1(fog)(x)
2(gof )(x)

SOL:-
f(x)=x*=D, =IR

g(x) =+x =D, =[0,%0)
(fog)(x) = f(g(x)) = f (Vx) = (Vx)?

D g (X) = [0,0)
(gof )() = g(f () = g(?) =x?
Dgof(x) =IR

EX2: f(X)=+x+1,9(X) =+/x—2, findthe
Bk (), (gof )(X), (fof )(x), (gog)(x)

Sol:-
f(x)=x+1>0=x>-1->D, =[-Lo)=x>-1

X=220=x22->D, =[2,0)=x22

1(fog)(x) = f(g(x) = f (Vx=2) =~+//x-2 +1
X=24120=/x-22-15/x-220=x-220>x>2
D (x) = Do (X)ﬂDg(x)

Diy(X)=x=2(1X>2=x2>2

D, (X) =[2,0)




2(gof )() = g(f () = g(/x+1) =J/x+1-2>0
VX+1-220=Vx+12>2 = x+124=x>3
Dyt = Dyt o9 N Dix
=x>23(x=>-1
Dyt x) = [3 OO)

X3 g(x)

I
i1

3(fof )(x) = f(f(x))=f(Vx+1)=+//x+1+1
VX+1+1>20=+VX+1>2-1=+/x+1>0

X+1>20—->x>-1

Dfof = Dfof(x) N Df(x)
=x=-1Nx=2-1=x>-1
Dgof(x) :[_1’00)

Drofpy=x=>-1

ey
NS/

Df(x) X>-

v

4(gog)(x) = 9(g(x)) = g(Vx—2) =v/x-2 -2
Jx=2-2>0

X—2>24—>Xx>6

Doy = Dygogioy N Dy

=X>6(1Xx>22=x>6

D [6 OO)

Dyx=x>2

()]
2 [l




Limits cibigil of ciall (6-2)

Lim, . f(x)=L
f(x)— L
X—>a
oda Jaly 5 48 yea Al o2 (4S5 o T yidy Yy (@) Al Gl e 48 jee f(X) A o 4y aaily
Aaa) o Q) e aagll Ol (@) e 2 (X) Ledie (L) e @ f(x) Al Gl ale JSia s, (7) Adalil
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Limits exist 4l 3925 (7-2)

Lim . f(x)=Lim___ =L
Dbl e = Gl e il 13 B s g0 (5SS AR Gl o aaly
1- Right-hand Limit:-

Lim . f(x)=L
x—a Ol (e Al 4 iy

2- left-hand Limit;

Lim__ f(x)=L

Dbl (e Aglad) 4 auaiy
EX1:- Find if the limit exist of

2

Lim, X

X—>2

Sol:-

H 2 2
Lim . x°=(+2)" =4

H 2
Lim . =(-2)"=4



Lim _x*=Lim _x*=4
X—2 X—2

The limit is exist

EX2:- Find if the limit exist of

. 1
Lim . ,—
x—0 X
Sol:-
Limx—>0+£_i+zoo
0
Lim _:i:_m
X—> X 0
. 1 .
lex_)0+ —# lex_)o, ; = 00 =—00
X

The limit does not exist

Osal Aga (a sl ) o 5 Al L) Com sl 5 5] sy il o 4 2y Y (07) -ridas e
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Ll 83 5m 50 (3585 a1 (6 iia alae ] o Jpeanll o5 136 (x) J A S0 Aaly gia g Bl Sy @
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Jalas Jie Azl 5 llaadl Glany ol sa) cand odef aidll e Jganll aiy (X) dad J (8) a Ui sad ind
DSl e (81 yally o all ¢ Jal gall

2
EX1:Lim_, X =29
X—2
sol :
2 2
LimHZX 4:(2) 4:9
x—2 2-2 0
Lim =242 iy o) —212-4
(x-2)

535 ge Al 3 Jalsad) il a5 o3kef ) pudl anis oaalsy o shad 22850 Ca e G131 (0/0) Ja o L
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EX2:Lim _,—X =2
x-1
Sol:-
-1t .
Lim ,—X=—1_~
x-1 1-1 0
Sl gan g 5 oe ]l aal) ol ol ) ogbiad 233505 Ca s AN (0/0) S O Ly
x—-1
Lim_, X —tim_ Xt 1 _jim 1_14
x-1 X x-1 X 1
B3 g se Al ()3
EX3: Lim,_, 1= _,
sin(x)
Sol:-
Lim 1—cos(x) _ 1-cos(0) _ 1-1 :9

x—0

sin(x) sin(0) 0O O
Loall i 58 5) (381 jalls o pall oo 5 odled J) gl oy oaimly ) sl padis Cagas A (0/0) o) o Ly

(Y e o)
_ _ 2
LimHol _cos(x)*1+cosx:"mH0 _1 COS“ X
sin(x)  1+cosx sin(1+ cos(x))
_lim sin® x L sin(x) _ sin(0)
% sin x(1+ cos(x) %1+ cos(x) 1+cos(0)
0 0 4
1+1 2
35 50 A1 (Y
not: —
sin(0)=0
cos(0) =1
tan(0)=0

sin(l) = 0.841=1
cos(l)=0.540=1
tan(l) =1.557 = 2
sin?(x) =1—cos*(x)



EX4:Lim m=’?
) x—0 '
X

Sol:-
X; x>0
|A: -X:x=<0
. X X .
=lim_,,, = lim .. v lim . 1=1
: X -X .
=lim, < lim - lim -1=-1
=lim m # lim m = not.exist
x—0+ X X—0" X

EX5:Lim, ,[x]=?
Sol:-

Lim . [3.000001]=3

lim _[2.9999...]=2

lim _ [x]=lim__ [x]

EX6:Lim,__, (xX*-7)"="?
Sol:-

Lim, (¢ ~7) = (-1-7)! = (-8)"°

2....... 277282933.13233........ 4

25330 i) )

Operation on limit &) yal s (8-2)

1-Lim _ [f(x)xg(x)]=lim , f(x)£lim __ g(x)=L+M

3—LimHa[f(X)/g(x)]:H:ﬁ

X—a

4—Lim_ [k.f(x)]=klim,, f(x)=K.L

5—Lim,_,[f(x)] =[lim_, f()]' =L"

=g(x)=0



2
EX7:Lim, , , 3% ~2 _9
3x° =17

Sol:-

lim,_ ,Vx*-2  {J(@)’-2 9-2 7

lim, ,3x2-17 3(=3)2-17 27-17 10

X——3

Formal Definition of limit i il &) (9-2)

if limit — lim,_, f(a) = L,if¥ e~ 05

|f(X)—L|<e—>|x—a]<&5
Al 2 sa 5 Ll 8 () S5 € e el 8 ading § Jie il e dlay) Ladaiad 13) €> 00 ) 6
iy el ladinly AR Ja il gt
£ (x)—L| e .
e ) ddllaall dagll Jysad o Jani o5 @

—e< f(X)—L=<e
OSadl gl B s g Al ()5S Lgale Lilians 138 Alitdd) e Jans o) (JJ il da iz pati s e
T

—0<X—a<o

EX1: provethatLim, ,x=1

Sol | f (x) - L|<e=|X -1 <e
—e<|x—l<e—>let:5=¢
—0=<X-1<6
—0<X—a<o

theLim, _ x.exist =1

x—1

EX2: provethatLim,_,3Xx+2 =5by.usin g.the.definit
Sol :| f (x) — L| <e=[3x+ 2 -5 <e=[3x -3 <¢]
—e<|3x—3 <e=3-e<3x—3+3<e+3
3 e 3Xx

——— <

e 3
_+_
3 3 3 3 3

1-S<x<Sh
3 3



1+1-S<x-1<S4141
3 3

3x+2 Al 1 (e oy X Aad Ladie 33 53 g0 Alall ()

In finite limit 4l ¥ L e 46 (10-2)

~tlgadl s L) e g 51388 s tie L e Camg Al Al 2o Gl (2any @lilia

Iet:E=5
3
—0=<X-1<6
—0=<X—a<o
1Limxﬁw1:£:0
X oo
. 1 1
lex_m)?:;:o
) 1 1
Lim,  —=—=0
X—>0 X3 003

3Lim +1:i:+oo
x—0 X 0+
Lim Olzi:—oo
T x  0-
Limx—>w+£:izo
X 4+
i 1oL
—0 X — 0
) 1
4|_Imx—>0* F = +)2
Lim oiz_ N2
5le +—2_ 1 2
X—00 X (w-i-)
Lim ,iz: 1_ >=0
X—00 X (CX) )




TS Y L ie &yl 1ol 46 (11-2)

@@)um\mwmmﬁ,ﬂ\ﬁuﬂuwiﬁs\ggw_:;g\‘;‘\;ﬁﬂ;\gagw\m@mmd;m
—r bl ABGY) 8 LSyl S il il 138 e (bl
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EX1:—Find.lim,_, —% * /X
X +2
Sol:-
Aole andi AL AN Ayl (e s aliall L& X aiall il e
—x* 7x 7
Tt -1+—
lim, X X —|im__ X
X—> Xz 2 X—> 2
—+— 1+—
X X X
7
_1+oo:_1+0:__1:_1
1+% 1+0 1
0

b (X) Jobaa (5 5bus Al (8 Aliall iy (g gt anaal) o S 13 5 oM d J (e et - idaa e
Al 3 () Jalae Lo Lol

EX2:—Find.Iime2XB;3X
X*—2X+7
Sol:-
x3 3X
2+? X+ —
Imx—>oo X2 2X 7 Imx—>oo 1_3 l
X2 x2 X X X
oo+i
o _ ©+0 _ o
1_£+1 1-0+0 1
o0 o0

Al Y Le o bt Al ()8 alaall A 3 (e Sl danadl s o clS 13 58 o2kef Jlall (e e -:ddaa e

X% + X

X3 +1

EX3:—Find.lim,_,



X, X
2 INERRNG)
lim, , =% —lim,_ X X
X°+1 X 1
X5
1111
lim X X _oo o« 0+40_0_,
= 1 1 1+0 1
I+— 1+
X o0

D g sbad ) Gl el A 3 e J81 daced) A 2 S 1Y) 58 oBlel JUiall (e it -rddas Dl

—-4aaMa

B Sl ) ) gall s g3 i A 3Y Ll e ) sl g Il IS 5 3 S e JIsall L) (65 Laie
LY ) 8 LS 5 g e A pusS i) sl o puimy i g Ay 5uS Jlsa )

EX :—Find.lim, _ 3x* —x
Sol:-

3XPHX Y e () alia s Jass (e 8 ke sa (31 salls Lea ami A 35S e Al ) aa S

. 3x% + X
lim, ,, 3x* —x*———=
33X+ X
lim (3x% = x)(3x? + ) _
X—>0 2
33X+ X
lim Ix* +3x° =3x* —x*
= 3x% + X
9x* — x?
. 3x% + X

X2 st s aliall &l e f e Al dand ) Ll Ldad 2y Ll die 4l 5 4 uS A of Ly

im_ X2 iy XL
X—>00 2 - X—>00 -
3L L 3_|_1
x?  x? X
9(00)2 -1 owo-1 o
= = — =00
5, L 3+0 3
o0
00 400 =00
0*00 =00

0 =0;a#0

a”=waz0=1
o0 — 00 = Q0

o0f/oo =00



0/0=w

0 _
OOO =1 0*o=00
0" =1 1% — o
0" =0

Continuity 4l aiali(12-2)

Def:- of continuity at (a) point the function f(x)is said to be cont at x=a iff
1/ f(a)=exist

2/lim, . f(x)=exist
lim, , f(x)="f(a)

EX1:- Does the function f(x) = x-2 cont at a=-4
SOL:-

1Uf(x=—-8)=x-2=-4-2=—-6
2/lim,__, f(x)=lim,_ _,x-2=-4-2=-6
lim, ,(x—2)=f(-4)=-6

X—>—4

The function (x-2) cont at x = -4

EX2:- Does the function f(x) = 4-x*/2-x contat x= 2
SOL.:-

1 f(x=2)==""=

2
2/lim,_, f(x)=lim, ,——=Ilim_, (2—x)(2+x) _
2—X (2-x)

lim, _,(2+Xx)=2+2=4
lim, _, f(x)= f(2)
The function does not cont at x = 2
EX3:- Does the function f(x) contat x= 0

f00 1-x%,x=<0

X) =
1—ﬁ,x >0

SOL:-

1/ f(0)=1-4/0=1-0=1
2/lim_ . f(x)=lim __ 1-Jx=1-J0=1



lim f(x)=Ilm 1- x> =1-(0)* =1
lim . f(x)=lim __f(x)=1

the.limit, exist

lim, , f(x)=f(0)=1

The function f(x) is cont at x=0

EX4:- Does the function f(x) contat a= 0
2
F(x) = X“+2,Xx#1
5x=1
sol:-
1/ f@Q)=5

2/lim _, x*+2=(1)*+2=3
lim_, f(x)= f()

The function f(x) dOes not is cont at a=1
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EX5:-
x? -9
— — x<3
f(x)=1 x-3
kx—3,x>3

Find the value of (k) that makes f(x) cont at x = 3

Sol:-
L)ﬂ\&ﬂ;u—\wcﬁiXZBMDMM\ﬂ\ u}hﬂéakid\j&d\wy‘;i

lim, , f(xX)=f(3)
(K) il A8 slag) (K oMo Ja 0 (0
X?-9
X—3 X—3
(x=3)(x+3)
X—3 (X—3)
lim_,(x+3)=3k-3

lim 3k-3

lim =3k -3

3k

(3+3):3k—k:>6+3=3k:>§=?

k=3



